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e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
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(iii)

(iv)

(v)

(vi)

(vii)

(viii)
64/1

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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G ® h ATWIGAT HI TWIO A AT HEHI o & THEl B IgE
@ﬁql i+£=1

2 2

State the two groups of factors which affect the profitability of mining.

TR o [hT T U TShi 1 Tcd Had 371 g 2 1
Which country of the world has the highest road density ?

U’ o fohegl ot Afiem (|1at) T & 9m fafg | Ly g

Name any two garrison (cantonment) towns of India.

ufved TRET § @ Gewisll w1 §98 w0 e F&bi g7 3 ? Uh HRU WE
HIT | 1

Why is West Asia the least developed in rail facilities ? Explain one

reason.

‘Sfeq Tieht T8t HuE & § I el wTaiiy gHEnati & W hifvu | 1

Examine the twin environmental problems that have emerged in the

‘Indira Gandhi Canal Command Area’.

TETEfer Td witfaes el % SUR W @i e S | LA g

2 2

Classify minerals on the basis of chemical and physical properties.

3T Y & § S <hi TUral sl U § fohE TR HEg L Hehd & ? 1

How can you help in improving the quality of water in your locality ?

3 P.T.O.
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64/1

= feu o At 1 aagrigEs sterma hife o 3us R for e g %
I TAfE

1+2=3
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(8.1)

(8.2)

At ¥ fewrE 78 T8t 1y hifse 3 g 9m fafgu |

39 8L <l i3 IR foRIvard fetfay |
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Study the map given below carefully and answer the questions that

follow :
> o
Bilbeis
= SHIP CANAL '
scmem RAILWAYS
——— FRESH WATER CANAL
KM 50 0 50 KM
L 1 ]
(8.1) Identify and name the canal shown in the map.
(8.2)  Write any four characteristics of this canal.
64/1 5 P.T.O.
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Fig:  [HElciiaa g9 Fae gIREaTad aheferEr & [o7g, J97 G&I 8 F T W&

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 :

HH-GT T8 QY HEEFR 1 Sisd] 2 ? 39 T8 6l fopegl =R famivaret &1 3g@

I | 1+2=3
Which canal connects two oceans ? Write any four characteristics of that
canal.

9. IR U s@an WeRi i foheal A fomansti w1 avia ifs | 3x1=3

Describe any three characteristics of chain stores in the world.

10. = feu U s w1 steaEH hifse 3t 35k A9 feu u gwi o I fafige ;- 9x1=3

(10.1) FIW feu TU soqra TIF hl gguH hifvw 3 Igert 9w fafaw | 98
g7 form T=u 1 foora 8 2

(10.2) 39 TG T9F o foTu wIfth 1 &F @I 1 8 ? 39 G I -4
Lot uftass 6t glaen yee war § 2
(10.3) 39 3T TIF o ToTU GAIg-3TTEh A1 I o &F 9 -4 g ?

64/1 6
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Note :

64/1

Study the diagram given below and answer the questions that follow :

Steel Plant

Bilaspur
- = = /)
Balaghat
Mahanadi River

Y Steel Plant
3 Dolomite
k¢ Manganese

Iron-Ore

/J Tandula Coal
Iron

Tank

- Railway

(10.1) Identify and name the steel plant given above. In which State is

this plant located ?

(10.2) Which is the main source of power for this steel plant ? Which

rail route provides transport facilities to this plant ?

(10.3) What are the major sources of iron-ore and water for this steel

plant ?

HETRGT 597 SaeT givanfaa ahemeal & 1o7g, 397 a&r 10 & €

wWE:

only, in lieu of Q. No. 10 :

The following question is for the Visually Impaired Candidates

TSI H T AIET 3R SEATd I hl T 6 fAQ IRl fordl diF @

TR shl ST <HIFIY |

3x1=3

Explain any three major factors responsible for the establishment of Tata

Iron and Steel industry in Jamshedpur.

7
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11.

12.

13.

14.

15.

16.

17.

64/1

“feren! UMY g W foREeRl TR, 39 W IS Tk A T8l 2 |7 fafiw wraevet @
TR A BU 38 HAA h1 fowedyor T |

“There is no consensus on what exactly defines a village or a town.”
Analyse the statement by using different criteria.

“Tepfd STIER YEH LT g 3R A ITehT TN hid & a1 dR-R Tepid
HETEROT B ST 8 T Yehfd W A SRATEl <l B9 ggd @l 8 17 38 hed
=1 Hifucy fag i |

“Nature provides opportunities and humans make use of these and slowly
nature gets humanised and starts bearing the imprints of human
endeavour.” Justify the statement.

“ard H Sl g3 SHEeE ﬁ?aﬁ@ﬁﬁﬁﬁﬁm%mw%aw’gamﬂﬁ
S <l T[UTE 1 Igd W™ 8 |7 o <l UrE] hl SHIC W H Hag L Hehel
Tt qedi hl SATEAT HINT |

“Indiscriminate use of water by increasing population and industrial
expansion has led to degradation of the water quality considerably in
India.” Explain the values that can help in maintaining the quality of
water.

qRa s 78 Mefies ifd, 1991 % fohegl =R T g3l 1 3@ HINT | &1

g9l Y wifed | Jvefiertor i yftrept 1 9uia i | 2+3=5

Mention any four major objectives of the New Industrial Policy, 1991 of
India. Describe the role of globalisation in achieving these objectives.

“foret TeST o IR 3T 39! Ufd Ak 3T 1 HHd faeh™ @ Ioaey 999 gl
3 |7 el |fgd 38 e i gy i |

“The size of a territory and per capita income are not directly related to
human development.” Support the statement with examples.

YaTd fohe TehR Rl & W TaEdl & W faair 1 YR 8 ? WRd § YaTd

= 3Tfees giumET <Al same hIfST | 2+3=5

How is migration a response to the uneven distribution of opportunities
over a space ? Explain the economic consequences of migration in India.

“ameyfies Twa o rAig AR fave srdfeeTan w1 nUR R 1”7 IeEwn |iga

39 YA 1 gfE Hifw | 5x1=5

“In modern times international trade is the basis of the world economy.”
Support the statement with examples.
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18.

19.

20.

21.

64/1

T HY 6T FEesTi & FHUH o fore fhe o foheel aTer 3umi 1 avten
HIT | 5x1=5

Review any five measures adopted to solve the problems of Indian

agriculture.

fawa W yafad meq fatg W &1 Q1 il § Ffihd I | 9 ThgE § TRE
TR fir & 2 T Fhifsm | 1+4=5

Classify intensive subsistence agriculture into two categories practised in

the world. How are they different from each other ? Explain.

HIIEUE 37 TUTE % MR T TR o F1EAT Sl & a7t § afiehd hIfT |
e T i foheal g1 forrarsti 1 =ames i | 1+4=5

Classify means of communication on the basis of scale and quality into

two categories. Explain any two characteristics of each category.

TaR % fu T TeHifos W@AmEE (98 13 W), ¥ f@m T obta vt
@I A, B, C, D 31 E <hl 9g== hifvu 3K 39 g am F=foafiga st

&l Agg ° 3ok I Wi T8 @shi W fafen 5x1=5
A. ST FI &% I 3 TH §e1 o0
frates TuEw 1 U Y@ &
C. ‘“UrHETgT emnt o Afm weIE
D. T% Y@ 94190+
E. U =g aid-u<H

Identify the five geographical features shown on the given political
outline map of the World (on page 13) as A, B, C, D and E and write
their correct names on the lines marked near them with the help of the
following information :

A.

= O QW

A large country of Africa in terms of area

A major area of subsistence gathering

The terminal station of a ‘“Transcontinental Railway’
A major seaport

An international airport

9 P.T.O.
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Note :

22,
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el e7 @acr gieanea ghenfeen & fog, 397 G 21 & T
WE:
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

3ThIRT o &FABA 61 gfY & T a8 <9 1 419 fafaw |

FER o fopdll T Y@ Fated guger & w1 AW fofen |
YR-HTES T I o foreft ueh arf<m weye =1 9m fafau |
I TR o Torell T Jg@ Tggt-uad 1 9 fafEu |
gfequr iRt & foreft weh Stauigir arg-ue = I fafau |

Name a large country of Africa in terms of area.

Name any one major area of subsistence gathering in the world.
Name any one terminal station of Trans-Siberian Railway.
Name any one major seaport of North America.

Name any one international airport of South America.

5x1=5

aRa % U MU TeHifas Eamta (98 15 W), # Frefafea ason w1 sww
el & quifzy 3t 37 Tm fofen

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

2011 1 FUAT & IR T Tfeh FEEAT THca aTeT T
ST <1 T IcqTeeh TS

TeNTd | fErd AfeeeRR Feifieht areh

snifeen # fe¥a shioet 61 T T

dfa I1g | e STauig arg-aad

bx1=5

Locate and label the following features with appropriate symbols on the
given political outline map of India (on page 15) :

(22.1)

(22.2)
(22.3)
(22.4)
(22.5)

The state having the highest density of population according to

Census 2011

The leading rice producing state

The software technology park located in Gujarat
The major coal field located in Odisha

An international airport located in Tamil Nadu

10
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Fig:  [AEliga 397 o gIEETaT et & o, 397 G&IT 22 @ T W
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) 2011 T STUET % FATIR YRA HT HH-G1 ToT Fd TMqh FHEEA
e T 8 ?

(22.2) YA 1 HH-AT TSI I I UV TGS 2 2

(22.3) oA H fe¥q Witk WEfieht areh o1 AW forfau |

(22.4) onfean # feora yg@ e &= @1 am fafau |

(22.5) YA ATg H FEod Teh AaUg I-acH w1 A fafE | 5x1=5

(22.1) Which state of India has the highest density of population
according to Census 2011 ?

(22.2) Which state of India is the leading rice producer ?

(22.3) Name the software technology park located in Gujarat.
(22.4) Name the major coal field located in Odisha.

(22.5) Name an international airport located in Tamil Nadu.

64/1 11 P.T.O.
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THE. 21h fom For question no. 21
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I E. 22 % fow For question no. 22

U T {T-AHR (TS TR )
Outline Map of India (Political)
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